
Class Problem 1 Math 304-06 Oct. 9, 2023

Consultation is fine, but no electronics, please.

A basis for R3 is B =
{1

2
3

 ,

3
2
0

 ,

−1
0
1

}
.

(1) A vector x ∈ R3 has the coordinate vector [x]B =

1
1
1

 . What is x?

(2) With the basis B, what is the coordinate vector of y =

3
4
4

?

TURN OVER FOR MORE! MORE!



A basis for P3 is D = {x3, x3 + 1, x3 + x, x3 + x2}.

(3) A polynomial p(x) ∈ P3 has [p(x)]D =


1
0
1
0

 . What is p(x)?

(4) What is the coordinate vector [x3 + x2 + x + 1]D?


